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raR=Eosn|
WRet = 3=
Aot Al el (&

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
206 M= Hl 6,524,306 6,055,000 469, 306
01 M= 4l 6,524,306 6,055,000 469, 306
=XAESAH E=72H ¥ FSEX 2

6,524,306, 000 6,524,306

207 O &l 22,000 22,000 0

01 228 22,000 22,000 0
OXNgadx=E SESAE 2249 22,000,000& 22,000

301 LerEa = 2,000 2,000 0

MIIEEd=3 2,000 2,000 0
ORds+ Y ZEds 2,000,000& 2,000

401 AIEHI L 20 620,000 620,000 0

01 A& HI 620,000 620,000 0
O2ta X = 100,000, 000& 100,000
O & & S AtHI 500,000,000 500,000
OMNEZSAHI & 22 X2 Hl 20,000,000& 20,000

402 RI2HX=01 M 6,742,875 6,692,875 50,000

03 2I2HCH & AFH HI 6,742,875 6,692,875 50,000
ON=Z & 2t 6,742,875,000 6,742,875

403 MtXISHH S A0l & 7,000 7,000 0

02 S 2SOHHEHAHE2 X HE At B 7,000 7,000 0
Ogdd &2 RES 7,000,000& 7,000

Bi =< =HE ALY 900,000 600,000 300,000

401 AIEHI L 2CHEI 900,000 600,000 300,000

01 A& HI 894,330 595,680 298,650
Oti2=79 EHEAL(6IHL) 894,330,000 894,330

03 AlE 2 THHI 5,670 4,320 1,350
Obi=+9 =AY 5,670,000 5,670

s=7S 2SEAE 1,924,000 300,000 1,624,000

401 Al HIZ 201 8] 1,924,000 300,000 1,624,000

01 A& HI 1,924,000 297,300 1,626,700
Os®Xd 100,000,000 100,000
(OFS R PNRS 100,000,000 100,000
OMEXH 190,000,000 190,000
o= X< 1,534,000, 000& 1,534,000

ol g1yl 170,000 150,000 20,000

801 Gl HI bl 170,000 150,000 20,000

01 LEtoildl gl 70,000 50,000 20,000
O=AURRXZE eIt 50,000,000 50,000
OXN=AXE LEH0ldIb 20,000,000& 20,000
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SN ALLED
M HRE 2 ==
ol KA ST AILRR (LA SEEN) CEEEED
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/
02 THoll - TH=H= =0l bl Bl 100,000 100,000 0

O=AHXZE Mo -

Met==olglgl

50,000,000& 50,000
OX=2FXZ= Mol - HHSH 0l
50,000,000& 50,000
SOHE d2E8+ HEAMS 1,143,000 1,143,000 0
Xl 800,000
Al 343,000
401 AIEHIZ 2 I 1,143,000 1,143,000 0
Xl 800,000
Al 343,000
01 A& HI 1,138,890 1,138,890 0
OsHEMESIHE MY 1,138,890, 000& 1,138,890
Xl 797,223
Al 341,667
03 Al 2 CHHI 4,110 4,110 0
OsHELESHE MY 4,110,000& 4,110
Xl 2,777
Al 1,333
d=EAME =d 50,000 50,000 0
401 AIEHIZ 2 I 50,000 50,000 0
01 A& HI 50,000 50,000 0
Oa=T A8 =&HI 50,000,000& 50,000
HY2HIH (FE+T ) 734,909 834,495 A 99,586
QHEHH (M) (AT MLSLES) 704,909 795,255 A 90,346
I =gl 704,909 795,255 A 90,346
101 1Al 631,929 726,104 A94,175
01 2= 631,929 726,104 A94,175
oJl=s 450,240,000 450,240
o032+ 30,188,000 30,188
Oxz=2R=¢ 43,026,000 43,026
OFAU+E 108,475,000 108,475
204 MR FH| 17,580 21,780 A4,200
02 Ag 2=l 17,580 21,780 A4,200
OXs2xHl 17,580,000 17,580
303 Za= 31,663 47,371 A 15,708
02 8tat= 31,663 47,371 A 15,708
oduaos 31,663,000 31,663
304 H=RE=S 23,737 0 23,737
02 =21H2E2E 3 23,737 0 23,737
O=0ALdEERE= 23,737,000 23,737
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Off &t 24

30,000
30,000
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